Demystifying Networking
Prof. Sridhar lyer
Department of Computer Science and Engineering
Indian Institute of Technology, Bombay

Lecture - 71
Questions on analogy for week 4

So, now that you have seen the animation of the analogy of Aditi and Balraj, why don’t
you write down a scenario, where you assume the roles of Aditi and Balraj and try to see
how can you use that two code two key box and communicate securely. The other
question that we have is, you could also think about a way, where they could use their
previous box which have the challenge of the keys getting leaked and still be able to
communicate securely now by using this new two pair two code box. So, go ahead and

think about it and we will meet you in the next week.



